
D o w n l o a d  M i s s i o n  G y a n  A p p

1. Which of the following is a feature of the 
Organized Sector?
A. Irregular working hours
B. No job security
C. Follows government rules and labor laws
D. No fixed payment system (C)

Explanation: Organized Sector is registered with the 
government and follows labor laws and 
regulations.

2. Which of these workers belongs to the 
Unorganized Sector?
A. Railway employee
B. Government doctor
C. Street vendor
D. Bank manager (C)

Explanation: Street vendors work outside 
government regulation and lack social security 
benefits.

3. What is the main aim of the Private Sector?
A. Social welfare
B. Profit maximization
C. Providing free healthcare
D. National development (B)

Explanation: Private Sector is owned by individuals or 
companies and focuses on maximizing profits.

4. Which benefit is not available in the Unorganized 
Sector?
A. Paid leaves
B. Daily wages
C. Flexible hours
D. Informal work (A)

Explanation: Workers in the unorganized sector are 
not entitled to paid leaves or medical benefits.

5. Which of the following is a Public Sector 
enterprise?
A. Tata Steel 
B. Apple Inc.
C. Indian Railways 
D. Samsung (C)

Explanation : Indian Railways is owned and operated 
by the government, making it a Public Sector unit.

6. Which group is especially vulnerable in the 
Unorganized Sector?
A. Industrialists
B. Bankers
C. Scheduled Castes and Tribes
D. Politicians (C)

Explanation: Scheduled Castes, Tribes, and backward 
communities face discrimination and are more 
vulnerable in unorganized jobs.

7. Which sector is responsible for providing basic 
services like health and education?
A. Private Sector
B. Public Sector
C. Cooperative Sector
D. Corporate Sector (B)

Explanation: Providing essential services like health 
and education is the primary responsibility of the 
Public Sector.

8. Why does the government provide subsidies on 
electricity?
A. To increase taxes
B. To attract foreign companies
C. To maintain affordability for industries and small 
businesses
D. To promote luxury items (C)

Explanation: Subsidies help reduce production costs 
for small-scale industries and prevent shutdowns.

9. Which of the following is a cause for the large size 
of the Unorganized Sector?
A. High productivity
B. Strong regulations
C. Slow growth of organized sector jobs
D. Government investment (C)

Explanation: Due to the slow job creation in the 
organized sector, many workers shift to the 
unorganized sector.

10. What is the focus of the Public Sector in terms of 
services?
A. Profit making
B. Market dominance
C. Social welfare and public good
D. Stock performance (C)

Explanation: Public Sector aims to provide services 
that benefit the society, not just to earn profit.
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